@ CabeU|be “Made for her.Inspired by everyday resilience.”

CabLadY S Comfort, made powerful.

Ergonomic Office Chair Thoughtfully craftedfor her.

( The Modern Goddess Chair )

BRAND STORY

Inspired by the needs of modern women, the CabLady S2 was designed
to bring elegance, health, and intelligent comfortinto every work space.

Fromlong hours at the desk to quiet moments with a book, CabLady S2
moves with you—supporting your spine and honoring your rhythm.

Cabevibe’'s Commitment:

® Designedforwomen’s unique comfort

® Abalance of elegance, ergonomics, and ease
® Encouraging confident posture, every day

® Yourall-day partner—from 9 to 5 and beyond

ltem Description

Warranty 3-years limited warranty (details on website)
Safety Certification Eco-friendly materials, EU/US compliant
Customer Support Email: support@cabevibe.com

Product Registration Register at cabevibe.com to unlock more services

@ . 6 % . QR Code IE8 % LI for support & feedback

Multi-adjustable Adjustable Flip-up Recline with Female Ergonomic
backrest Headrest Armrests Footrest Design




ﬁ Package Contents

0 Baselegs x5

0 Wheelbase Core x1

0 Center Cover x1

-~

@ x10 (M6*20)

O (S

m x 4 (M6*35/M6/M6*15*1.5)

o Armrest Covers x 2

0 O

@ x 3 (M8*40/M8/M8*22*2)

W 4 A \ ]
@ll)))ﬂ_l)))‘. M)
” = _."‘I

X Assembly Guide

.

(.

Insert all five base legs (B) into the wheelbase
core(C).Secure them with the M6*20 screws (M)

vy

and tighten firmly using the hex key (P).

.

Insert each caster (A) into the end of eachleg
untilitclicks into place and feels secure.

) .

Carefully place the seat base (F) onto the gas
lift (E) installed in the wheelbase. Make sure the
connectionis firm and the seat is properly fitted.

né

. Same steps for both sides.

Align the armrests (1) with the sides of the seat.
Secure each one with the M6*35 screws (N) and
gasket (L), tightening them with the hex key (P).

J

-

W Step 4
Pre-assembled parts, screws to -

beremoved before installation

1
"l'

vy

J

Remove the pre-installed screws from the foot
pedal (J). Align the pedal with the slots onthe base
leg and reattach the screws using the hex key (P),

making sure it's firmly fixed.

Same steps for both sides.
.

Place the center cover (D) into the middle of the
wheelbase. Theninsert the gas lift (E) into the
cover, pressing it down firmly.

Place the armrest covers (K) over the screw areas
and press until they click into place.

Remove the screws from the headrest (H), align
it with the holes onthe backrest, thenreattach

the screws and tighten them with the hex key (P).

A

J a

1.Headrest Adjustment

Move up/down to fit neck height Tilt for optimal

cervical support.

2.Lumbar Support Adjustment

Slide or rotate knob to fit lower back curve.

6 Key Functions to Customize Your Comfort

AN

Place the seat base (F) on a table or box. Align the
backrest (G), insert the M8 screws (O), and tighten

with the hex key (P).

Congratulations! Your chairis now fully assembled.
Please check all parts to ensure they’re secure—and

enjoy your new chair!

S/ \

3.Backrest Recline Adjustment
Multi-position tilt lock (90°-125°).

Q Safety Information

Prohibited Actions

Do not push ordrag the
chair while someone s
sittinginit.

Do not press downon
the backrest when
someone isreclining.

Do not place your full
body weight on the
backrest alone.

Do not stand or step on
the chair.

Donotsitonly onthe
front edge of the seat.

Do notuse the chair
with more thanone
person.

Avoid Heat and Humidty.

RecommendedUse

¥ ;|

\

Sit fully in the center of the seat with
your back against the backrest.

Keep both feet flat on the floor for
balance.

.

Use the chair only for sitting and
reclining, not as aladder or support.

\

Adjust all functions gently using the
designed levers.

Recommended
load < 150KG (330 1bs)

Raise/lower, flip up, and shift forward/backward.

4. Armrest Adjustment

.

5.SeatHeight & Depth
Uselift lever to adjust height Slide seat

forward/backward (if applicable).

A

x X
L I
<

Eoa

6.Footrest Adjustment (if applicable)

Pull out to relax; pushin to store.




